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C:\MATLAB6pS5\work\max_power_transfer.m

August 25, 2004
____-__—_——""_'—-—-"___—_-_-—_____-_—_.—._____“-__

% Making a plot of power across the output resistor of two resistors
% in parallel. The supplied voltage is 20 V and the non-load resistor
% is 5 ohms. The equation to plot from R = 0 to R = 20 is

% P = 400*R/ (5+R)

. % Program under max_power transfer.m
% written by: wlg: office computer 8/26/04 for ECE 301

R = 0:.05: 21;

P = (400*R)./((5+R)."2);
plot (R, P)

grid

ylabel('Output Power, P, Watts')
xlabel ('Load Resistance, R, Ohms')
title('Illustrating Maximum Power Transfer')
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G. Rizzoni, Principles and Applications of Electrical Engineering Problem solutions, Chay
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with meter in | without meter
circuit in circuit
a 10.15 mA 9.99 mA
b 24.03 mA 23.15 mA
c 27.84 mA 26.67 mA
d 23.29 mA 27.08 mA
Problem 2.65
Solution:
Known quantities:

Schematic of the circuit and geometry of the beam shown in Figure P2.65, characteristics of the mater
reads on the bridge.

Find:
The force applied on the beam.
Assumptions:
Gage Factor for Strain gauge is2
Analysis:
R, and R, are in series; Rs and R; are in series.
Voltage Division: Vs, = ViR, _ Vs(Ra —AR) V (R, —AR)
* R +R, R,+AR+R,—AR 2R,
Voltage Division: ¥, = ViR, __ Vs(Re—AR) Pfs (R, +AR)
* R,+R, R,—AR+R, +AR 2R,

XVL: .—VRI -VM +VR‘ =0
ViR +AR) V(R =AR) V28R o oo v, (2)6)1L

Vo =Ve ~Ve =
TR TH 2R, 2R, 2R, wh'Y
v oepty 0-0507(0.025 m)(0.100 m)* 69x10° J—VZ-
F=2pa¥Y _ m_—19.97 kN.
V,12L 127(12)0.3 m

Problem 2.66
Solution:
Known quantities:

Schematic of the circuit and geometry of the beam shown in Figure P2.65, characteristics of the mat
reads on the bridge.

Find:
The force applied on the beam.
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